fay
H

QM AHE F1 375w | '8. gswamaémn_;_w%ﬁ%%l

FAT H&W 9 [ | S o
(B) Toifem =afs , )
(C) HoZER =3f% 1 by 7
D) T & = 7 ‘ ( i
2. ﬁqwﬁ%—rﬁﬁﬁmﬁmwy '9. ﬂﬁmﬁqﬁsﬁa%mﬁ?ﬁﬁm
(A) | I4H W T a1 w FEd 8 |
(B) , (A) T
3 Vgﬁ%mméﬁﬁ? { . FuTdh
(A) 5 : ! .o
»%'g 10.Eqnqﬁwﬁﬁ%ﬁm%ﬁaaamwﬂa
(D) 6 RELL
4. Fefefed 3 3w ey i | e R e T
..3@\.'.3;'?{: \ Lgy m:iz
3T R
i(‘];) 37“?!?{ (C) W?BT\“:?’;E?TW
(©) m })i IFCIEECIE o
(D) 37977d
; - 11 ﬁﬁr%%aﬁwﬁﬁéwwl
5. Wwﬁmwe A
(A § b
® W _AB) A
(C) TF C) 8
(D) & (D) J

6. @ 3vaTH FATE | 4 s
U ST e A w12 T = # v

(A) TH HTgHt (A ¥
(B) ¥ UF et # @ (B) =
(C) =g " ©) #_
r D) Sl FFT W 1. (D) 7
7. T=fafgs amg 3 g e w yen :
L S 18. freifefied & & feramnfaaies gfim |
3 Tk & T @ 2
(A) wiHTOETEF Ty ® # ]
(By” H&TET= fasimu e j
(C) TvrET=F faemor
(D) Hehqaree frsryu Wl
DX 2019 (2-B)
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14.

15.

16.

-

18.

19.

&QWWWE@W@T%|
Feeha

(A) gEfafn

(B) gafaa

o) geErat

(D) ZEEal

“F== =9 T 997 % HY WA |

A =9 AR faufa
B F9H HH 1 % fHerar &
ey ek o | gfg w91 @
(D) TH ¥ &IE TE

feu m wreg 1 Yg ¥9 g |
Ffeeron
A) =

B) Tl

c) e
(D) ﬁ'f’rsr

7 wr=z = wEiEaTE weg §4q7E |
Fqq

(A) AW _.—

(B) Hd ~

(C) =9 ~

D) ey ~

fau mu 3rsg & faem wrsg waTET |
T
(A) o

(B) Hed
© far,
(D) 99 ¥ &Is T8

FaHI % YR W G 1 g &9 AT |

(A) ITIH! TS HH 8 ?
(B) mm%m%o
@) 39 T HEl B 2
(D) mwa‘,‘g[%q

DX 2019 267370
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20.

22.

23.

24,

25.

20 MU wreg} 1 U Weg ATy |
I ATE TR

A) ==

B) f&m

() fEm

By TR

fu T w1eg 1 TguE weg FATEY
ST :

(A) TR

(B) Q‘R‘i;

(O TR

(D) Shehl

Frefetiga a9 %1 ™ Fq5y |
Y ¥ 1 W I g O |

(A) FR H

By ufth ™

(C) wa ™

(D) ¥ & H1§ TE

o T ar v w wre Fafon i )
‘g T w ATt

(a1 FT

(B) TAHM A

(C) wiasad w1

(D) &8 & FiE TE

feu v faeredl | B foruy 7= e & faam

ol =1 g s fopan o @ 2

(A) 3 TR, A FA A, @A | A T
21

(B) 3 ==E A Fa, T @ 91, 7 T R

(C)- &1 5=, 1 Ha J& W@ o1, A T8 2 |

(D) 9 ST A1, HeA FET TG AT, A TE 8 |

TR A AT |

gifeha Ireg i T R 2

(A) faaT=es H3

B fhaTaeh H3T

(C) WIEaT=h G301
(D) HgaT=H E
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26. ¥ 2018 H 3gM fehe g% wW & fow IRCTC
g frefafgs # @ SR

T 2 2

(A)
(B)
(C)
(D)

I N e T

(A)
O

IRCTC T  —
IRCTC id
IRCTC feehe
IRCTC FATS

A
fremaw

B) msfe
(D) aETHH

HiEwd W =

98, aicfge fren “S 2 e Fiefefen # & | 28

fre e A =R B 2
&) ETehT (B) gt
(C) TeH (D) Fm

29. Ffiflga i A PRI AR BE A AT 22 | 29,

(A)
(®))

forgh

(B) &l

ELc (DY W3

30. TETEHT T 1 @ AH TR 2
(A) HrETATE HHEE Mt
(B) HigeE Hidg it
AC) TTETEE HTEg Ml
(D) WEAeH HWiEE T

31. U9 I ggEH HifST |

(A)
(B)
(&)
D)

DX 2019

el T U

TS T 9=l
TS T 9
T § IS A&

(4 -B)

26.

30.

31.

Out of the following, which mobile app has
been launched by the IRCTC for flight ticket
booking in the year 2018 ?

(A) IRCTC Air

(B) IRCTC Railway
(C) IRCTC Ticket
(D) IRCTC Fly

Which among the following is the network
provider of Jio ?

(A) Airtel (B) Idea
(C) Reliance (D) Vodafone

Bollywood movie “Chak De India” 1is
associated with which of the following
sports ?

(A) Hockey (B) Kabaddi

(C) Golf (D) Tennis

Which of the following animal gives us
wool ?

(A) Cat (B) Dog

(C) Tiger (D) Sheep

What is the full name of Mahatma Gandhi ?
(A) Mohanlal Karamchand Gandhi

(B) Mohandas Karamsingh Gandhi

(C) Mohandas Karamchand Gandhi

(D) Madandas Karamsingh Gandhi

Identify the leaf.

(A) Banana leaf
(B) Banyan leaf
(C) Coconut leaf
(D) None of these

~ArTATA
L0V
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52 2018 3 FRA &9 3 wE.Aud. T2o S| sz,

a1 ?
(A) TIEIH TacH

(B) HAUSHH BeUETg m/\
(©) ==E gm fFw

(D) Hieal 915 TsSH

33 7F TE0 I YeW & (efafed § 3 R i
EfEEee |
A TEIS
_(Cr

(B) WY
(D) AR

34 FET &I ‘TR F g ET IR 2
(A) wsfeafead % a1 sfem
(B) T2 9@ 3% 3fea
(C) Hifers 98 ATH 3fean

—

35. YO % A YUH WAl B & 2 35.

(A) TSig TE1E
B FEEAE IEE
(D) gﬁmiaém

36. J.UH.U. ! HgT J.TH.
A) @ . B) TR
(C) ¥ (D) @Th

37. U9 HSAU HH-A T § gEEd § 2 37.

(A) Tree (B) &Il
o fefaada (D) Fremerh

38. WA % fohd U9 8 war i e (qfd) =
22
(A) TSI
AB) TIA
(C) 5ed weu
(D) Teure wew

DX 2019
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2 36.

38.

Which team won IPL T20 in 2018 ?
A) Rajasthan Royals

B) Sunrisers Hyderabad

C) Chennai Super Kings

‘D) Kolkata Knight Riders

Taj Mahal is situated in which of the
following cities of Uttar Pradesh ?

(A) Lucknow (B) Mathura
(C) Agra (D) Aligarh

What is the full form of “SBI” in banking
sector ?

(A) Subsidiary Bank of India

(B) State Base of India

(C) Solid Base of India

(D) State Bank of India

Who was the first Prime Minister of India ?
(A) Rajendra Prasad

(B) Jawaharlal Nehru

C) Indira Gandhi

(D) Subhash Chandra Bose

The currency of USA is US
(A) Ren (B) Dollar
(C) Rupee (D) Dhaka

Pankaj Advani is related to which game ‘?
(A) Cricket (B) Hockey
(C) Billiards (D) Shooting

In which State of India is the Statue of Unity
situated ?

(A) Rajasthan

(B) Gujarat

(C) Madhya Pradesh
(D) Himachal Pradesh
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39. U offg a9 H, wad B2 |
(A) 30 f= B) 28 f&A
) 29f@ (D) 31 fem
40. Trefefigd § @ s s Sefig goft 2 2
(A) TR  AB) HTEA
(C) & (D) f&

41.

42.

43.

44.

areE fhew Siiee’ (2018) |, “aud &
g yftem Feferfaa § & frem g ot 2

(A) A @A

(B) forhl horet I
(OWECISGEREEED

(D) 398 & *IE T

fqgamTe 3THE U WA 71
(A) Tfeh

(B) wiciigs fyHar

AC) wats faardt

(D) TRehet

INIREL
(B) grfsifer
AC)  FTEHTY,
(D) 9

AR @R ved § wed o1 Ug f=fafEga # &
HHATR ?

(A) W
(C) gt

(B) e
D) azmﬁ

DX 2019 (6

39. In aleap year, February has
(A) 30days (B) 28 days
(C) 29 days (D) 31 days
40. Which among the following is an aquat
animal ?
(A) Sparrow (B) Fish
(C) Monkey (D) Deer
41. In the Indian movie ‘Gold’ (2018), who amor
the following played the lead role of “Tape
Das” ?
(A) Aamir Khan
(B) Vicky Kaushal
(C) Nawazuddin Siddiqui
(D) None of these
42. Viswanathan Anand is an Indian
(A) Political leader
(B) Bollywood actor
(C) Chess player
(D) Cricketer
43. is the capital of Nepal.
(A) Thimphu
(B) Darjeeling
(C) Kathmandu
(D) Pokhara
44, Which among the following is the bigge
planet in our solar system ?
(A) Satarmn (B) Neptune
(C) Earth (D) Jupiter
- B)
287370
st L —————




45. Who is the present Chief Election
Commissioner (CEC) of India ?
A) Om Prakash Rawat
B) Sunil Arora
(C) Subhash Singh
(D) Raghav Bose
46. Ti=foifid fawedi # & 38 w&t =1 =27 i 46. Seloct the city from the following options
EL §""l Her o o S 2 where Kumbh Mela is organized.
(A) I (B) SRort (A) Jaipur (B) Varanasi
(€) e 0 g (C) Bhopal (D) Prayagraj
47. ¥WA § ARE.AE. & TOHH T FE B 2 47. Who is the present Governor of RBI in India ?
A) 4 it (A) V.V. Chari
(B) ‘EIWW (B) Raghuram Rajan
4] TR T (C) Shaktikanta Das
D) 391a 9
(D) Urjit Patel
48. 2018 ﬁ, LRI # w3 fova Ao 4 48. In 2018, M.C. Mary Kom created a record by
T =t w2 Sfiaw wF e winning a historic gold medal in
- i | the World Championship.
(A) e _ ABY (A) Fourth (B) Sixth
(©) et (D) TEal (C) Eighth (D) Tenth
49. YNd % TAUE TI'?CI'E’I FTE? ' 49.  Who is the present President of India ?
(A) wfqwr aifea (A) Pratibha Patil
(B) 3w ;e (B) Amit Shah
€) T Y Fifg (C) Ram Nath Kovind
S w (D) Pranab Mukherjee
50. I 2018 # Frefafes & & frm wwdm 50. Out of the following, which Indian political
TSI a1 61 g 7 2 leader died in August 2018 ?
(&) fem e (A) Indira Gandhi
(B) Tfia e (B) Rajiv Gandhi
‘/Ef)z e ﬁw,m (C) Atal Bihari Vajpayee
(D) Jayalalithaa
DX 2019 (7 - B)
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51. Write the full form of
I'm
(A) Iwill
(B) Ihave
—(C) lam
(D) Ican
52. Which of the given four options 1:eﬂects theé

correct use of punctuation symbols as per the |

established rules of English grammar ?

(A)

T

(©

(D)

53.

(A)

AB)

()]
(D)

54.

Bhuwan always’s enjoyed sweets,

patties, marshmallows and chocolate

cakes.

Bhuwan always enjoyed sweets, patties,

marshmallows and chocolate cakes.

Bhuwan always enjoyed sweets patties
marshmallows and chocolate cakes.

Bhuwan always’s enjoyed, sweets,
patties, marshmallows and chocolate

cakes.

Complete the analogy :

Dog:Canine::Cat: 7
Ursine
Feline
Bovine

Neptune

Which of the following idioms is wrongly

quoted ?

(A)

V,LB)

(&)

Every cloud has a silver lining
Blessing in disguise

Burn the midnight oil

(D) Adding injury to insult

DX 2019
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55. Choose the correct option :

56.

57.

58.

((BY " quite, principal

AEB)

It is (quiet/quite) clear
the (principle/principal)
involved in the donation for admi
scandal.

(A) quite, principle

(C) quiet, principle
(D) quiet, principal

In the question given below, choose
alternative which can be substituted for
given words/sentence.

i
“A piece of land surrounded by water

all sides.”

,_(AY Island

(B) Shore
(C) Beach
(D) None of these

Choose the correct meaning of the g
word :

Numerous
(A) Small in number
Great in number "
(C) Few

(D) Little

Which of the given options is nof an opp
for the word ‘Wise’ ?

(A) Dull
B lever

(C) Obtuse

(D) Stupid



58. Read the given statement carefully and | 63.

it choose the correct tense.

“He loved pasta.”
(A) Simple Present
(B) Past Progressive
(C) Present Perfect

D) Simple Past

60. Which of these words is not an adjective ?

ﬂ Achieve ‘ 64.

(B) Additional
(C) Massive

Choose the correct form of noun that suits the
given sentence :

The music building at the school has
30 for students to play on.

.iA) laboratories
(B) men

*+4C) pianos

(D) teeth

Identify the interjection from the following

sentence :
Yippee! I made this picture all by myself.
(A) made

(D) Active B it
ure y
(C) myself s
81. Match the verb with suitable nouns : 4D Vippes
3 Write a. Aeroplane
2 Cut b, Pencil
3. Sweep c.  Vegetables ’ 85. Complete the sentence with appropriate
4. Read d. Broom ' preposition :
5. Fly : e. Book He went the school.
(A) 1-e, 2-c, 3-d, 4-b, 5-a (A) at | :
(B) 1-b, 2-a, 3-d, 4-e, 5-¢ i AB) to
(C) 1-d, 2-¢c, 3-b, 4-e, 5-a (C) in
, D) 1b, 2-c, 3-d, 4-¢, 5-a (D) on

62. Fill in the blank with the plural form of the

Ramesh eats two every day. (banana)

(A) banana

_AB) bananas

(C) bananays

(D) bananaies

-

L

o DX 2019 | (9 - B)
SKh

word given in the bracket : 66.

Choose the correct meaning of the word
“Accuracy”.

(A) Falsehood
(B) Inability

L€) State of being correct or precise -
(D) Mistake




67.

68.

Choose the correct word to complete the 71. Choose a subject from the given optia
simile : complete the sentence :
As as a tortoise. | a day, keeps the dc
; { away.
: slow
‘M i &) An apple
(B) fast f (B) An aquarium
(C) brave | (C) Breakfast
(D) blind I (D) Mango
r
'
Choose the meaningful word from the given S hoose the corvect apefling -

jumbled word :
ETTLOB

(A) botlte

(B) bottel

(C) betotl

_/(6)/ bottle

69.

70.

DX

Fill in the blank with simple past tense of the
underlined verb :

I always play hockey in the evening.

But last evening I tennis.

&) played

(B) plays
(C) had played

(D) was playing

Change the gender of the underlined noun
and rewrite the sentence :

My brother is unwell.
(A) My niece is unwell.
(B) My aunt is unwell.
(C) My uncle is unwell.

(D) My sister is unwell.
2019

_(A)~ Correction

(B) Corection

(C) Corction
(D) Coerction

73. Choose the correct verb :.

We to the park on Sunds
(A)
(B)
«—C)
(D)

goes
is going
g0
gone
74. Write opposite of the given word :
Weak
(A
(C
(D

Oid
Strong
Hungry

Sick

75. Fill in the blank with the correct pronoun :

Please give that book.
(AT me
(B) 1
(C) you
(D) they

(10 - B)
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3 3:5@9%%@13&55%15 76. Express 3: 5 as percent.
(A) 35% (_/({) 60% (A) 35% (B) 60%
(C) 8% (D) ¥® ¥ #I$ 78 C 8% (D) None of these
77, Fefafed § § S sum g & 77.  Which of the following statements is true ?
(A) 6 T - 21 = fosha geg {A) CP-Loss=SP
AB) fosha g - e ey - T =L
: < (C) SP-Loss=CP
© i ik = e ‘D) None of these
(D) 98 ¥ HIE 7
78. The heights of 6 girls were measured in em

78. 6mﬁmwﬁwﬁﬁm and the results are as follows :

freafefiaa & 135, 150, 139, 128, 151, 132
135, 150, 139, 128, 151,132 What is the approximate average height of
. 2 : irls (in em) ?
TsfFal Hi e SerE (W F) o g g
3 (A) 13216 (B) 139-16
C) 15116 D) 12816
(A) 13216 . (By 139-16 2 )
(C) 15116 (D) 12816

79. What fraction of these circles have x in
T gE b g 2 o gy

ey LHEaNe

-’ 4
. A) =
' 3
. () — D) N f th
(© ‘2‘ (D) T & 5 78 8 (D) None of these
80. TUET Hifu . F80 Compute :
60 T 150% 3 1150% of 60
1 Ay = (B) 900
(A) i (B) 900 9
(C) 0-009 (D) 90
(C) 0:009 D) 90

| 1 3
81. Tl W _;_ et ot s 3 fdt == ;| 81, Mensah walked 3 ©°f a km yesterday and =
2 of a km today. How many km has Mensah

LE E3Nl feherm fereft e ? ! walked in total ?
13 4 ! 13 4
M ® - E @5 ® =
3 P 5 |
© 2 (D) & 5 == | © % () Monsabihase
DX 2019 f11 -8
267370




S 0 S

e

Frq Enft
1 1
A T " (B) ¥ 5
C) -T2 (D) _#15
83. WicAIhd Hifa
iy
T S e i
e
1 1
(A) 35 (B) 39
1
) = (D) ¥ @ Y 75
i 3

84. 43R 5% Ugd 2 A TR §

9
v (A) 20,40 (B) 20,60
(C) 60,80 (D) 9 & =7 78
85. Tfeifiga # zsmers ge fofam .
AT Z @ ot S v
(A) 902-305 - R
92-305 TR,
AB) 5 %
(C) 902305
(D) 37 § =I§ 78

86. TH AWAIHR & hI TEE 100 X § | AR
wﬁwﬁfﬁsootﬁa%,ﬁrsuﬁaﬂ@éw%?

(A) 3 Htex \Y(B) 50 T
(C) 15 Hiex (D) 20 HeX

87. ﬂﬁP:?SOO,T:Z,R:IO%,FﬁW@T
| #m

86.

87.

cost of 1 pen will be

1 1}
1R g By =
@) 180 - 15
(C) < T30 (D) ¥ 15
Simplify :

2%
—_— N
3 32
3 1
A) — Bl e
(A) 35 (B) 23
(C) % (D) None of these

The first two common multiples of 4 and 5 are
(A) 20,40 (B) 20,60
(C) 60,80 (D) None of these

Write decimal number for the following :
Ninety two point three zero five

(A) 902-305
(B) 92-305
(C) 9-02305
(D) None of these

The length of a rectangular field is 100 m. If
its perimeter is 300 m, what is its breadth ?

(A) 3m (B) 50 m
(C) 15m (D) 20m_

FP=%800,T=2R= 10%, then simple
interest will be

(A) T 240 B) ¥8
(A) T 240 (B) ¥ 80 - @ g
By T 160 (D) ¥ 360 (GRS 100 & =i
88. x% foU &t Hifsm . 88. Solveforx:
4(x+3)=20 4x+3)=20

(A) 8 (B) 2 (A) 8 (B) 2

(C) 16 D) 13 (C) 18 {d)-13
DX 2019 (12 - B)
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1000, 1005, 1002, 1007, 1003.
AT 1007, 1005, 1003, 1002, 1000
(B) 1000, 1002, 1003, 1005, 1007
(C) 1007, 1003, 1005, 1002, 1000
(D) 1007, 1005, 1000, 1002, 1003

91. 5009‘%sina'érisnnﬁizhani1¢ar§ ?
(A) 50010, 50011
(B) 5010, 5020
L) 5010, 5011

(D) 3§+ 78
92. .
V225
(A) 10 (B) 9
(C) 20 D) 15

93. U fyw # oitfy 72 2, 3 st &

(A) 34,24, 18
(B) 2,3,4
(C) 16,24,32 ¢ —

(D) ¥4 & = 7
94. iefipa Fifsm

653 x 47

(A) 42591
(C) 74391

(B) 65391
(D 30691

DX 2019 267370

89.

91.

(13 -1B)

Convert the given number into Roman
numeral :
24

A XXVI
(C) XXIV

(B) XvIin
(D) XC

Arrange the following in descending order :
1000, 1005, 1002, 1007, 1003,

‘4) 1007, 1005, 1003, 1002, 1000

(B) 1000, 1002, 1003, 1005, 1007

(©) 1007, 1003, 1005, 1002, 1000

(D) 1007, 1005, 1000, 1002, 1003

What are the two consecutive numbers after
5009 ?

(A) 50010, 50011
(B) 5010, 5020
(C) 5010, 5011
(D) None of these

Find the square root of the following :

V225

(A) 10
© 20

(B) 9
(D) 15

The perimeter of a triangle is 72 cm, and the
length of the sides are in the ratio 2 : 3 : 4.
Find the lengths of the three sides in cm.

(A) 34,24 18
(B) 2,84

(C) 16,24, 32
(D) None of these

Simplify :

653)(47
(A) 42591 (B) 65391
(C) 74391 (D) 30691

TN
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95. f=fafigs = 4 3% 8 # WHY A7 s

ﬁ"lﬁﬁQ:
784 . -
(A) HHa _B) TS !
(C) T8 (D) &R ]
i
96. Trmfafigs S F1 o Fd HIFAT : g
5 |
(A) 25 (B) 15
€ 135 D) Iugh aft
| 97.
97. B HIfFU : :
4+1
8
47 .
(A) = L}B) —8“
© o) 32
8 8
98.

98. UM TG ifwT, A m=(-1),p=2

P#PxPxpPxM:m =
(A) 4 (B) 16\~
(C) 8 (D) T 3 H1E T8
99.
99. n% forw gw Hifdw -
3n+7=25
(A) 12 (B) 18
AC) 6 D) 5
100.

100. Freferiad @ % 3Tt @9 9 T4 HIAC

(A)
(B)
« AC)

(D) T & WS TE

DX 2019

{50, 46, 42, 38, ...}
42, 46, 50
34, 32, 30
34, 30, 26

(14 - B)

Write down the place value of digit 8 in the
following number :

784
(A) Hundreds (B) Tens

(C) Ones (D) Thousands

Find the factor of the following number :

53
(A) 25 (B) 15
() landb (D) All of the above
Solve :
4+ i
8
47 39
A — By ‘==
(A) 8 (B) 3
13 a2
C) — D) —
(C) 3 (D) 3

Find the value, if m =(-1), p = 2

Px«PxPxPxMsN =
(A) 4 (B) 16
(C) 8 (D) None of these
Solve forn :
3n+7=25
(A) 12 (B) 18
(C) 6 (D) 5

Find the next three elements in the following
set:
{50, 46, 42, 38, ...}
(A) 42 48,50
(B) 34 32,30
(C) 34.30.26

5 e e



